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NO HEEE 1cm 50cm 1.0m Kigra& nNEE
1 A—4 AAT#AO - - - | BEQRAETT
2l B—8 |[#HAMKEE 0.40 0.38 0.33 ED)
3] B—4 [=/RiE{HE 0.74 0.38 0.29 ED)
4 B—5 |HHEALAREE 0.37 0.37 0.35 =
5/, B—5 [athhAREE 0.33 0.33 0.32 ED)
6] B—5 |ERGEM){HE 0.28 0.17 0.16 ED) O
7 B—5 |XK(ERD ik 0.18 0.16 0.15 £l O
8] B—5 |[FEEA 0.48 0.36 0.32| Y FEE 1cm)
9] B—6 |[THHALESE - — —[mE0AMERT
10 B—6 | Ty — — -[EE0amERT
11] B—6 |[FEMERSEOGFEOD)+E - - -|mEnaMERT A
12 B—6 |HRE(B=EFTE]) 0.38 0.30 0.28| Y FEE 1cm)
13 B—6 |gIfHE — — -[EE0amERT
14 B—6 |FHHABHE - — —[mED0AMERT
15 B—6 |M/EAREERI 0.52 0.41 0.33|2Y(GEE 1cm)
16] B—6 [XKIRZELEHHE 0.24 0.20 0.17 ED) A
17] B—7 [/NEAEFRIR(EEXTEE i) - - —lw=EoaRERA
18/ Cc—3 [FARMEAAO 0.31 0.29 0.29 D)
19 C—3 [#/Afr=&Hith AOfhk 0.15 0.22 0.27 D) A
200 C—4 |[#BOLU#A 0.47 0.34 0.29 ED)
21 C—4 | FHX(BFHMEE ) 0.30 0.22 0.20| Y FEE 1cm)
22| C—4 [PX#EfHE 0.42 0.32 0.27 ED)
23] C—4 |FXTIY—2EI (BB (1) 0.18 0.17 0.17 ED) O
24| C—5 [RBEEREfE 0.10 0.14 0.13 ED) A
25| C—5 |RILEMFHE 0.40 0.36 0.33|EYGEE 1cm)
26/ C—5 |X&1% 1.15 1.01 0.74|2Y GEE 1om)
2711 C—5 [TFEEEHNA 0.83 0.47 0.31|2Y(GEE 2cm)
28l C—6 [5oFELE - — —[mED0AMERT
29 C—6 | LEHHELELEH — - -[EE0amERT O
300 C—6 [BLUIZXM#hAO - - -[EE0amERT
31 C—6 [T ZEMihEKthisEEm 0.66 0.46 0.36|2Y (FEE 4cm)
32[ Cc—6 |LATULAETFHI — - -[EE0amERT
33] C—6 [MEHIF{HE - — -[wEnanEFRT
34| C—6 |FEEFREEEHIGHZTH - — —|w#wE0anERT
35| C—6 |[IUTFTHREEILE 22— - — -|mE0smERA O
36| C—6 |[IUTEBSZEEGMEAD - — -[wEnaMEFRT
37 C—7 |\ M\ YVED — - -[EE0amERT
38 c—7 KELAREGE) — - -|mED BRERT
39 c—7 [/IHERZER - - —[mE0AMERT
40 C—7 |{EHMFEEKIEMMR - — —[wEnaMEFRT
41 c—7 |EEFEAREMTE - — —[wEnanEFRT
42| Cc—7 I E R - — -[wEnanEFRT
43| C—7 |EdhEih (BiE5) — - -[EE0amERT
4 C—7 | KF#HHHIEFHA - — -[EE0amERT
45| C—8 [BBRGhME) — - —[mE0AMERT
46| D—2 [JU—rryykCcCAO 0.33 0.41 0.42|2Y GEE 2cm)
471 D—3 [BXFE®E 1.21 0.82 0.67 ED)
48] D—3 |[REAEfE 0.41 0.35 0.32|2Y FEE 5om)
49| D—4 [SB1GER) {4 0.33 0.23 0.22 Bh A
500 D—4 |EB4EAE/AHNK 0.29 0.32 0.30 ED)
51 D—4 [EPARLAESLE 0.17 0.18 0.19 ED) A
52| D—5 |[FihiEiE T 0.60 0.32 0.28 BEh
53] D—5 [REE/MVER (BIEIFHI) 0.39 0.26 0.22 ED) O
54| D—5 |[BENERESEH 0.21 0.18 0.16 B O
55| D—5 |IBEMRAEREER] 0.53 0.48 0.38 B
56 D—5 |BE@BEAOfNLA 0.35 0.39 0.33 BEh
o7 D—6 [{fORYIRISUE - - _[mEoamNERT O
58 D—6 BFH—TU0E - — -[EE0amERT [@)
59 D—6 | EwAOE#A — - -[EE0amERT
60/ D—6 [AXsA+FE - — -[wEnsMEFRT
61 D—6 h EEIGEfEhA — - -[EE0amERT
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NO HEERTE 1cm 50cm 1.0m Krze NHE
62 D—6 |FEi+ BEErEkiS -|#E0sMERT
63] D—6 |[HEW=Za1—30  (ED) -[mE0AMERT A
64 D—7 FEFEREAREEFT -|#E0sMERT
65 D—7 | EHEREEVIS -|mEnaNEFT A
66 D—7 |/NAEBEMKA -|mE0aNEFT
67 D—7 |2)l|ihiz 0.17 0.16 0.15 BEh O
68| D—7 |ELILEEXE400mIESTE 0.24 0.27 0.27 Bh
69| D—7 |FEHERAO 0.49 0.38 0.36 Bh
700 D—7 [EEEAE 0.37 0.30 0.27 Bh
71 D—7 |VWIAAERETE R A 0.32 0.31 0.29 BEh
72| D—8 |FEII(FHFIE) 0.22 0.25 0.26 BEh
73 E—2 |WFEMME 0.54 0.41 0.34| Y (FEE 1cm)
74| E—2 |[EAF (B 0.60 0.39 0.29| &Y (FEE 1cm)
75| E—3 |BR/EDihigE 0.45 0.40 0.37 BEh
76| E—4 |[BEAREEH 0.12 0.11 0.11 B O
77 E—4 IBEX /RN REEH] 0.50 0.38 0.35|Bh (FEE 1cm)
78 E—5 |FRIRA LfHE 0.25 0.28 0.25 BEh
79 E—5 |8k 0.36 0.28 0.25 BEh
80 E—6 — D XA — - -|BEnaAEFRT
81 E—6 L+ EERE =& & hHhE -|#E0sMERT
82 E—6  |/NEEHI~ s AH#A -|#EnaMETT
83] E—6 |[XKBOEYSUF — - -[mE0AMERT
84| E—6 |[EEGEHFAAA) 0.30 0.34 0.32 Bh
85 E—7 |FRIRERESEM R 1.75 0.74 0.52 Eh
86| E—7 |EIMSRIEHAI 0.61 0.51 0.44 BEh
87 E—7 |ERAREER 0.20 0.23 0.24 BEh O
88 E—7 |ERARERHFRME 0.45 0.30 0.25 BEh
89 F—4 [E/itfhk 0.25 0.25 0.24|BEn (FEE20cm)
90 F—4 |HREMREEL I—EIHISH 0.13 0.13 0.12 Eh O
91 F—4 |HPaEE A fEHE2 2 —HI 0.47 0.34 0.26 BEh
92 F—5 [BAMA#A(R289H/5500m% LFKE) 0.20 0.25 0.24 Bh
93 F—5 |ZERARER 0.33 0.30 0.29 BEh
94 F—5 |®Bt A2—ZEAI 0.39 0.37 0.31 BEh
95 F—5 |ZIEPGHRBIEY /0O h 0.21 0.25 0.24 Eh
%6 F—6 |&LEKHADO 0.39 0.32 0.26 BEh
97 F—6  |FIEHISETFIR 0.53 0.40 0.35 BEh
98] F—6 |EFIR/ \REHTRE 0.19 0.26 0.29 Bh
99| G—1 TEZF (@ -XEXIE) 0.13 0.10 0.09| £Y (J&E20cm)
100 G—3 |FAEA LEIEHIS 0.20 0.16 0.15[8h GEE 1cm)
101 G—4 |EFEKGRERGFEISH{TIR) 0.31 0.27 0.23 BEh
102| G—4 |E3EHhE 0.14 0.13 0.15 BEh O
103] G—5 [HREHXAHCCEIEHIF{ti - - -| ZZFF#Ht
104] G—5 [IFLEBEEHhI 0.40 0.36 0.30 Bh
105 G—6 | XEBHEEFHR 0.18 0.19 0.19 Bh
106] G—6 [BEHFTFE 0.27 0.24 0.23 Eh
107 H—3 B 3 4 [R ithisg 0.17 0.16 0.14 Eh
108 H—4 |EBECAIELEES 0.11 0.11 0.12|BEh (FEE 8cm)
109] H-—5 |[EfRtELEEGEGEIITL) 0.13 0.14 0.13[#h GEE 3cm)
1100 H—6 | KERIFEHDE 0.24 0.20 0.18 BEh
111 1—3 Faoo w G2) 0.07 0.07 0.07|BEh (FEE20cm)
112 1—4 BFERICYHRTILAOMAE - - 0.04/ B (&= 100cm)
113 1—4 BADER () 0.07 0.06 0.06 BEh
114 1—4 HRORX v JiHAO 0.06 1/15
115 1—4 A ELERRH L AR R A5 m CKE S ) 0.06 0.07 0.06] B&Hh (FEE20cm)
116 J—5 g ER 0.04 0.04|BEh (FEE50cm)
117 K—=8 |HFroRILAOETES - 0.04] & (FEE82cm)
118 K—3 B IWLILUTE 0.06] B4 (10/29) —
119] K—3 [BHAE4hA 0.05] Bg§Hh (10/29) —
1200 K—3 |KEREHIF{h 0.05 0.06] B+ (FEE50cm)
121 K—4 |li#E 0.16 11/9 —
122 K—4 |i#E 0.06 11/9 —
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